ASSEMBLY INSTRUCTION

3249-415-X-2381

f(@ angel cerda

A B C D E F
M8x25 M8x30 7xd)8x2 5mm §4nm $14x ¢ 8x2.5
8 PCS | 8 PCS |16PCS|1PC | 1PC | 8 PCS




ASSEMBLY INSTRUCTION
3249-415-X-2380

f(@ angel cerda

A B C D E F
M8x25 M8x30 7xd)8x2 5mm §4nm $14x ¢ 8x2.5
8 PCS | 8 PCS |16PCS|1PC | 1PC | 8 PCS




